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Note: You have four choices for each objective type question as A, B, C and D. -qﬁd’)}.;uw{.;{gw
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Slope of demand curve is:- ] A S (1)
(A) Negative ¢ (B) Positive =3 (C) Zero 4 (D) Infinite 1.V
(2) If total expenditure of the consumer remains <d/rugJJ:U‘/U:’LUYVLPVU{L.:/LJ;J,vu”...J/ (2)
unchanged with a change in price, then elasticity of demand will be:- (A) More than unity um_db/'
(B) Equal to unity /.!/.Lég' (C) Less than unity [Létﬂ (D) Zero 4

(3) According to Law of Supply, the functional relationship existing -LLYQ%“L«JUD&.HLJ'MMIJdlb‘é,wu:’b (3)
between Price and Supply is:-  (A) Increasing u’/?? (B) Decreasing UW (C) Negative d’ (D) Zero #*
(4) Due to 10% change in price, if there is 40% increase in Jruéd/mmuw‘ﬂw*m/c;;uwwu*u’ (4)
supply, then elasticity of supply willbe:- (A)10% (B)40% (C)20% (D)4 %
(5) Ifincrease in demand is less than increase in supply then equilibrium Jujir'?r[ajwu",w :.EL-o!u”J); (5)
price:- (A) Decreases Ldb}’[ (B) Increases ¢dtw/ (C) Remains same < (% (D) Becomes zero ¢dt>//’

(6) Joint business of two or more than two persons is called as:- «LLML}/KJ//K)’/’D}L/C'_})L)} (6)
(A) Partnership J/ (B) Monopoly /bl (C) Perfect competition Ju»d" (D) Cooperative society u%w
(7) The factor of produciton which is used to produce more -aL“U-«’/ :¢L“L7UULW14L£4./,V JMA/YL/LV J"w (7)
wealth is called as:- (A) Labour = (B) Capital .\~ (C) Organisation (D) Land

(8) The other name of Law of Increasing Returns is:- -¢rL/»KJIla/(u!b (8)
(A) Law of Decreasing Returns J’bJMu:’b (B) Law of Decreasing Cost J/WJ"wu!b
(C) Law of Constant Cost i/l 3196 (D) Law of demand ¥y s¢

(9) When total product is maximum, then marginal product is:- -Laému%“f"‘??m;g};uw%ﬁz (9)
(A) Zero 4 (B) Negative d/ (C) Maximum wsljeali (D) Positive =2

(10) Slope of fixed cost curve is:- -‘Lm%{lﬂﬁé.ﬁjw‘jﬁ’f (10)
(A) Positive =3 (B) Negative d" (C) Zero 4 (D) Infinite s

(11) Number of sellers in Monopoly is:- -Légﬂ)'ﬁd/u»@‘;/.:jnédmulg' (11)
(A) Large /S’/ (B) Few 3 (C) One J (D) Two »

(12) Number of firms in short run:- (A) Goes on changing au’/d/J/« -:;lﬁufur/'ufca‘_)ig (12)
(B) Is zero L(}}’}‘ (C) Remains constant Lu’/g}“”/ (D) Is infinite L(}r:uﬂ}

(13) The market in which price is determined on daily basis, is knowns as:- -¢le-«’/ :¢dr&.¢x’~|wu"uyu’yu (13)
(A) Long run market d,wd/d:)’,v/ (B) Short run market d,wdv)’/f
(C) Day to day market ($i»_+y (D) National market §i~(#

(14) The rent of marginal land is:- -Lébnuéguijfu‘? (14)
(A) Positive =3 (B) Negative d" (C) Infinite s (D) Zero 4

(15) The theory of margmal productivity was presented by - -g@gdm'&ﬁ"iﬁ (15)
(A) Malthus UL (B) Robbins & 7 C) Hicks LJ[ (D) Marshall A'_JP/L

(16) Founder of Neo-classical School of Thought was:- -G&g(ﬁ%ﬁtﬁ (16)
(A) Marshall J;/L (B) Robbins  #I (C) Fisher /“’ (D) Adam Smith 5"‘(&'

(17) Methods of deriving Economic Laws are:- (A) 4 B) 3 ()2 (D)6 -@%}LL/@W&?@V 17)

(18) When Marginal Utility is zero, then Total Utility is:- «Lat“m;lslf?n}‘utél?:‘{,a (18)
(A) Negative d" (B) Maximum sslJe»ss(J (C) Minimum [ [ (D) Zero 4

(19) The other name of Law of Equi-marginal Utility is:- (A) Law of Demand —ys¢ -Lértyugﬁ"‘?;;wd,uujs (19)
(B) Law of Supply +s#6 (C) Law of Returns Jbo#6 (D) Law of Substitution Ju1/ 96

(20) Discontinuous variable is:- -‘ad’y/.:f/f:‘ (20)
(A) Time < (B) Temperature .72 (C)Demand ¥ (D) Speed 4x
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